ELEMENTS OF ACCOUNTS

QUESTION PAPER 1
[Board's Sample Question Paper For Annual Exam]

_____
----
-

(2)Use of scale and pencil necessary.
(3)Use of simple calculator is allowed

SECTION A

om the given

Answer the following questions by selecting the correct option fr
20

options : [Questions 1 to 20 -1 mark each|
1, What percentage of interest will be paid, when no provision is made pertaining to
interest on capital in the partnership deed ?
@6% (®I9%  (c)12%  (d)No interest
2. How would you consider the interest on debit balance of partner’

for the firm?
(a) An expense (b) Liability  (c)An income  (d)Loss

s current account

3, Goodwill 18 ......... where individual skill is important.
(a)more (b)less (c)zero (d) negative

4, Super profit means ......... ;
(a) Capital employed - Expected profit  (b) Expected profit - Capital employed
(c) Average profit - Expected profit (d) Expected profit - Average profit

8. In which ratio profit or loss of revaluation account is distributed between the partners ?

(b)In gain ratio

(a)In sacrifice ratio
(d)In old profit-loss ratio

~ (c)In new profit-loss ratio
the time of reconstruction of a partnership firm ...
) trading account (b) revaluation account

sation account (d) profit-loss appropriation account

r Accounting Standard 26, gseaun
for which some amount is P

is prepared.

goodwill cannot be shown in the books.
aid for consideration

ally generated

(a) and (b)
- of (a) and (b)

old profit-loss sharing ratio is given: sacrificing ratio of partners = ......... ;
. B okl ratio (d) cannot be calculated

t md Jyoti are equ
i equally. New Pr

(c) old share—new share
5. Geeta retires. Geeta’'s share is gained by
loss sharing ratio of Sweta and Jyoti will

al partner
ofit and

m the realisation of assets, at the time of the

paymcnt made fro
a ?
P (b) Loan of partner’s wife

w ies (d) Partners’ loan
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11. Which of the following account is opened to incorporate the accounting P
assets and liabilities of the partnership firm at the time of dissolution » '
(a) Profit and Loss account (b) Profit and Loss Appropriatioy ey

O,

(¢) Revaluation account (d) Realisation account '

12. In which year SEBI was established in India?
(@) 1947 (b) 1932 (c) 1956 (d) 1991

13. If the company does not receive subscription for at least ... of the Publie o
then share issue would be cancelled. :
@50% (b)75% (c)90% (d) 100 %

14. Debenture is ......... for a company.

(a) capital (b) receivable (c) liability  (d) asset
15. Which of the following analysis shows stakeholder-based classfification 7

(a) External analysis (b) Horizontal analysis

(c) Short-term analysis (d) Vertical analysis
: 16. The analysis of the financial statements ..........
} ‘ (a) presents only results (b) provides historical information
| (c) makes interpretation (d) None of the given

17. In which terms ratios are presented ?
(a) Proportion (b) Percentage (c) Time (d)All of the given

18. Which of the following ratios are included in traditional classification ?
(a) Composite ratios (b) Liquidity ratios
(c) Profitability ratios (d) Solvency ratios
19. How many activities are there in cash flow statement ?

Five  (b)Four  (c) Three (d) Two

~of the following transaction is always transaction of operating activity ?
st paid on loan (b) Dividend received
(d) Salary expense

following questions in one sentence each : u
3! to 30-1 markeach)
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Instructions : As per Question Paper 1.

SECTION A

Answer the following questions by selecting the correct option from the giveR
options : [Questions 1 to 20 -1 mark each]
1. Under which method, the interest on capital keeps on changing during the year
to the changes in the capital ?
(a) Fluctuating Capital Account Method
~(b) Fixed Capital Account Method
(¢) Current Account Method
(d) None of the given

‘2. The capital proportion of A, B and C is 3:2:1 respectively. The divisible profit is
- ¥66,000. What will be the amount of profit of C?

(a)¥11,000 (b)T22,000 (c)¥ 33,000 (d) T 66,000
3. Goodwill is which type of asset?
(a) Tangible asset  (b) Intangible asset  (c) Current asset

(d) Fictitious asset




R

4. Expected profit = ........,
(a) Capital employed x Expected rate of return
(b) Average profit X Expected rate of return

(c) Weighted average profit x Expected rate of return
(d) Assets X Expected rate of return
5. Revaluation account is also known as

(a) Capital Reserve account
(c) Profit-loss Adjustment account

----------

(b) Profit-loss Appropriation account

(d) Profit-loss account

6. At the time of the reconstruction of a partnership firm, investments are shown at
......... in the balance sheet after the revaluation.
(@) Book value - market value  (b)Cost value  (c) Market value  (d) Face value

7. Nisha and Nima are equal partners. They admitted Nita as partner for —th share
of profit. Determine the sacrifice ratio of Nisha and Nima.
®i:4 M4l (©)1:1 (d)1:3

8. How is employee's profit sharing fund shown in the balance sheet after retirement
of a partner ?

(a) As receivable (b) As payable (c) As reserve (d) As asset

y 9.1Illa, Shila and Nila are partners sharing profit and loss in the ratio of 2:2:1. ‘Nila’
§ retires. Find out new profitloss sharing ratio of Illa and Shila.
(@a2:1 (b)3:2 (e)1:1 T2

10. When all partners agree to dissolve the firm, partnership firm can be dissolved at
any point of time, it is called ...
(a) voluntary dissolution. (b) compulsory dissolution.
(c) dissolution by court. (d) dissolution as per contract.

11. To which account balance of general reserve account is transferred at the time of
; ‘the dissolution of a firm?

a) To Realisation A/c (b) To Cash A/c
Profit and Loss A/c (d) To Partners’ Capital A/cs

does the difference of realisation account go?
%aluation Alc (b) To Profit & Loss A/c
' (d) To Cash/Bank A/c

(b) Revenue expense
(d) Capital expense

(b) Bearer debentures
(d) Perpetual debentures

are known as financial accounts?

'M Social  (c) Historical  (d) Qualitative

which analysis is classified on the basis of duration?
(b) Horizontal analysis

(d) Long-term analysis

following is not included to compute current ratio ?
(b)Stock  (c) Bills receivables (d) Furniture
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18, |
Sl ol g llowing is not included in operating expense ?

¢ of asset (b) Loss due to fire
(¢) Interest paid (d) All of the given
19, :Z:ﬂ;af;t :f the following js Included in financial expense ?
e Salesry ex:’:;:;nses (b) Administrative expenses
S (d) Interest expenses
20. Purchase of patent, purchage of furniture

(a) o
Perating activitieg, (b) investing activities.
(¢) financing activities, (d) All of the given

-1 mark each]

lat is reconstruction of gz partnership ?
ibe the methods of dissolution of a partnership firm.
. company does not need to raise debenture redem

Ption reserye
the solvency ratios.

arrive at trade receivables is bad debts reserve deducted fr

om debtg,
“activities ?

Amount received from debtors’ is considered ? Why 2

: 30
g ratio to Rima, Rina and Riya is 6 A manage;éi
S of ¥ 13,200 at 5 % after deduction of such Commisgjoy, Q
tio ; tners.
ion of profit amongst all three par «E

i ofits andq

i firm sharing Ppr
the partners in a . .
'  have decided to change their profit and losg _

e - aBthant narration) @ e
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Instructions : As per Question Paper 1.
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Answer the following questions by selecting the correct option from the given
options : [Questions 1 to 20 -1 mark each] 20

v
e

1. What is the interest on partner’'s capital for a partner ?
(a) An expense (b) Liability (c) An income (d) Loss
2. How many number of partners are there in partnership business according to the
Rule 10 of the Companies (miscellaneous) Rules, 2014 ?
(a) 10 (b) 20 (c) 50 (d) 100
3. Goodwill is a financial value of .......... :
~ (a)investment  (b) prestige of business enterprise  (c) fixed assets  (d) competition
4. At the time of valuation of goodwill, capitalised profit is compared with which point ?
(a) Receivables of business (b) Payables of business
(c) Capital employed in business (d) Total assets of business

- 5. What is worker’s profit sharing fund for the partnership firm ?
(a) Receivables (b) Reserve (c) Assets (d) Payables
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6. Debit balance of Revaluation Account means ... ;
(a) profit  (b)loss  (c) payable  (d) recelvable

7. When new partner brings his share of goodwill In cash, which account s credited?
(a) Cash A/c (b) Goodwill A/c
(c) Premium for goodwill A/c¢ () His Capital A/c

g, If partnership deed is silent, interest ls payable at ... on unpatd amount payable
to the retiring partner.
(@) 10% pa.  (b)12% pa  (c)6% pa.  (d)zero%

9, How long does a retired partner claim for profit in the partnership
(a) Lifetime (b) Till final account
(¢) Till retirement from final account  (d) Till majority of partner's wish

10. By what other name is Realisation Account Known .
(a) Profit and Loss Adjustment account
(b) Accomplishment account
(c) Revaluation account
(d) Trial Revaluation account

11. How many methods are there for dissolution of a partnership flrm?
(a) One (b) Three (c) Two (d) Four

firm 7

12. For public issue of shares company has to take a permission from whom ?

(a) Central government (b) SEBI (c) State government (d) Reserve Bank
13. At what minimum price per share company can issue shares according to current
ons of Companies Act?

100 (b)T1,000 (%1 (d)T050

v at rate debenture would be issued at discount?
0% (b)5% (c)20% (d)Rates as decided by board of directors

&3

h basis is Profit and loss account prepared ?

sales (b)On purchase (c)On dues (d)On total of profit-loss

of different years is known as ....... .
(b) Vertical analysis
(d) External analysis

mpa ison of financial statements

.........

(b) Sales + Operating cost
(d) Sales + Operating cost
following is deducted from current assets ?

d assets which of the
(¢) Debtors (d) Bills receivables

3  Cash and pank balance
; year as compared to previous year is called .........

(b) purchase of goodwill.
(d) All of the given

in current

ooooooooo

(b) higher solvency.
(d) All of the given
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SECTION B

ng questions in one sentence each: 10
30- 1 mark each]
of goodwill ?
ratio found ?
t of old goodwill appearing in the balance sheet of the
&e retirement of a partner.

Bl of the partnership firm have on the existence of the firm ?

12

*ﬁ 3 marks each]

: rtion of 3:2.

_ ofit-loss in the propo 1.
rmg(mhmprto give minimurm 736,000 from pronr.
total profit of the firm Was R .

X o

i
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A A e

the following questions by selecting the correct option from the given
20

:tmutlonl 1 to 20-1 mark each]
mcount and on which side, the share of partners’ share pro

fluctuating capital account method ?
it to Capital Account (b) Credit to Capital Account
t to Current Account (d) Credit to Current Account

fit is recorded

the interest on drawings of partners for a partner ?
(b) Liability (c) An income (d) Loss

/depends on which aspect?

mloyee of business enterprise (b
sets of business enterprise (d)On future maintainable profit

d average profit for last four years is 44,000 and number of years
dll is two years of weighted average profit, find the value of goodwill

11,000 (c) ¥ 22,000 (d) ¥ 88,000

) On management of business enterprise

ving balance is of accumulated profit?

sharing fund (b) Reserve fund
(d) Provident fund
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6. Changes in partnership due to several reasons means ... .
(a) reconstruction of partnership (b) dissolution of partnership
(¢) combination of partnership (d)None of these given
7.1f a new partner brings his share of goodwill in cash, in which proportion is the
goodwill distributed between the old partners ?
(a) In equal ratio (b) In capital ratio (¢) In gain ratio (d) In sacrifice ratio
8. Mit and Jit are partners sharing profit and loss in the proportion of 3 2. They
have admitted Hit as a partner on the condition that he will be given —th share.
What is a new profit-loss sharing ratio ?
(a)12:8:5 (b)8:12:5 (€)12:5:8 (d)8:5:12

9. To give public notice of retirement of an active partner IS ... ’
(a) advisable (b) optional (c) compulsory  (d) imperative
10. What is the type of Realisation Account?
(a) Balance Sheet (b) Personal (c) Real (d) Nominal
11. Which balance of account is not transferred to Realisation A/c on date of dissolution ?
(a) Furniture A/c (b) Bank A/c (e) Investment A/c (d) Debtor A/c
12. Which of the following is not shown under the heading ‘Share Capital’ in a balance sheet?
(a) Authorised capital  (b)Issued capital  (c) Reserve capital  (d) Subscribed capital
18. How many minimum members must be there in a public company ?
(a) Two  (b)Seven  (c)Ten  (d) Fifty
-14. As per voting right. how many votes can be given by debenture holder in the election
of board of directors?
; Debenture = 1 vote (b) 100 Debentures = 1 vote
person (d) No voting right

zi Account and Profit and loss account are also known as ......... ‘

statement (b) Payment statement
(d)Fund flow statement

(b) Internal analysis
(d) Horizontal analysis
proportion is liquid ratio desirable ?

f{c)l :8 (d1:1
.. judgement about firm’s financial performance.

(c) political (d) primary

waseesan

outﬂow (c)cash equivalent  (d) None of the given

‘ statement
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SECTION B

the following questions in one sentence each: 10

ons 21 to 30-1 markeach]
"t;aken as the basis for determming future profits ?

12

jofa firm. On 1-4- 99 their capital was ¥ 40,000:

‘At the end of the year after distribution of profit
on capital at 12% 1is missed out. Write

eS



Time : 3 Hours | [ Total Marks : 100
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Instructions : As per Question Paper 1.

SECTION A

Answer the following questions by selecting the correct option from the given
options : [Questions 1 to 20 -1 mark each] -

1. Debit balance of profit and loss appropriation account means ......... /
(a) gross profit (b) gross loss (¢) divisible profit (d) divisible loss

2. How would you consider the interest on credit balance of partners’ current account

for firm?
(a) Expense (b) Liability (c) Income (d) Loss
. DU is an intangible asset which shows the reputation of a firm in the market.

(a) Patent (b) Trademark (c) Copyright (d) Goodwill

4. Which method is appropriate for the computation of goodwill when every year profit
is increasing ?

(a) Simple average (b) Weighted average
(c) Annual growth rate (d) Compound growth rate
After making changes in the profit and loss sharing ratio, gain of X is —115 and gain

e
is -1-3’ then find out the sacrifice of Z.

b= (© 35 (DZero
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6. To whom does the acoumulated profit or reserve Juiid elon
(a) To the new partners (b) To the existing izrm
(¢) To the employees (d) None of the given o
7. Where do we show
admission of a new
(a) To debit side of
(b) To credit side of
(c)In capital-liabilities si

(d) To debit side of capi

8. At the time of admission of a mnew partner, which ratio 18 used to d
k between old partncrs?

' amount of goodwill shown in the boo
3 (a) In old ratio (b) In new ratio (c) In sacrificing ratio  (d) In gaining ratlo
payable amount of

9. At the time of final settlement, what 1
 retired or deceased partner ?

1 {w)Interest on capital
~ (b)Loan given to the firm

~ (c) Interest on loan given toO the firm

(d) Interest on debit balance of current a

). Who has to bear dissolution €Xpenses. at the time of dissolutl

(a) Government (b) Bank () partnership firm (d) Creditors

. At the time of dissolution, which payment is to be paid lastly from th

the amount of discount reserve on debtors at ‘
e time  of |

partner ?

Revaluation account
Revaluation account
de of balance sheet

tal / current accounts’ of partners

istribute the

s to be deducted from

ccount
on of a firm ?

e realisatior

the firm's assets ?
) of partner’s wife (b) Excess of capital account
~of partner (d) Dissolution €xpense
premium on the face value of shares cal

maximum _rate of percentage for
d by the company on their issue shares ?
~(b) 100 % (c)25% (d)No limit

Control for Cricket in India’ (BCCI

) company Is an example of what kin

(b) Registered companies
(d) Company limited by guarantec
tures are shown in the Balance Sheet of th

(c) Current liabilities (d) Capital fund

; pepared to know the profit or loss of any specific period (

(b) Balance sheet
(d)Fund flow statement

included in non-operating income ?
(b) Depreciation

(d) Income tax refunded

is liquid ratio?
est coverage
rage ratio (c)Current ratio (d) Operating ratl

tio ’is. expressed in proportion form ?
' Operating ratio  (d) Current ratl¢



ELEMENTS OF ACCOUNTS 37

19. Cash equivalent means ...
(a) short-term investments.
: )long-term investments.

ch investments which cannot be quickly converted into cash.
overnment securities.

dend or interest received on investment is ... .
added to cash flow of operating activity

deducted from cash flow of financing activity

d to cash flow of investing activity

ed from cash flow of investing activity

SECTION B

,. llowing questions in one sentence each: 10
1& 30 - 1 mark each]

of capitalised profit.

; treatment of the new goodwill of the firm valued at the time of
eath of a partner.

s as per negotiability.
ere _:t“ coverage ratio.
-ation of ratios.
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Instructions : As per Question Paper 1.

SECTION A

Answer the following questions by selecting the correct option from the given
options : [Questions 1 to 20 - 1 mark each] »
1 What percentage of interest will be paid on the loan lent by the partner to the firm,
~ when no such provision is made in the partnership deed ?
ta)ﬁ% (b) 9% () 12%  (d) No interest
; ‘mm:e will the interest on loan given by the partner be debited ?
‘fal‘flb Profit and Loss A/c (b) To Profit and Loss Appropriation A/c
(c) To Partner’s Capital A/c (d) To Partner's Current A/c
nder which head goodwill is shown in the Balance Sheet?
1-1 ent liabilities (b) Current liabilities
ent assets (d) Current assets

does not exist in those business which incur ......... :
I's own reputation  (b)stable customer  (c)profit  (d)loss
me of revaluation of assets and liabilities, if there is a provision for doubtful
=o' will be ......... :
waluation A/c (b) credited to Revaluation A/c
t and Loss A/c (d) debited to Debtors A/c

will the amount of reserve fund be credited at the time of
partnership ?

? (b) To Revaluation A/c

h_,ﬁppropriatlon Al/c (d) To Partner’ Capital /Current A/cs
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7. At the time of

(b) After normal debts

pormal debts
pormal debts (d) After all wpes of payment
kmen accident compensation fund is transferred

Jution of a firm ?
(b) Partners’ Capital A/C’S {c) Profit and LoSS a/c (d)Cash x,%
also called Nominal capital ? :
(b) Issued capital ?
(d) Paid up capital
orfeiture?

at the time€ of share fi

share capital account
(d) Received amount

(c) Uncalled amount

(b) Face value
on redemption of debenture Account for 2 company ~
(c) Receivable (d) Loss
00.000: and if it IS increas

a company IS Z6.

what would be the expenses of the previdd

(c)?7.20,000 (d) None of these

assets gives the analysis of ......... §

Je. the use€ of
(d) efficiency

(c) solvency
current ratio desirable ?

(b) Sales + Cost of goods sold
(d) Sales + Cost of goods sold

e ‘
s included 10 non-operating income ?
assets (b) Depreciation
: (d) Income tax refunded
hilities are result of which activity ?

1-:_-,{3:) Financing  (d) None of the given
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'SECTION B

thc following questions in one sentence each: 10
21 to 30 -1 mark each]

Erbs

as uked:

i h]
o 36 -3 marks eac
31 ters of a partnership firm. The share of Richa is

# of Riya Is double of share of Richa. Determine
share

12



